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Output inverter application

Phase shifted ZVS, Vgeon=

Figure 1. Typical static loss of shifted switch

as a function of output current
IGBT Ploss=f(lout)
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Figure 3. Typical switching loss
as a function of output current

IGBT Ploss=f(lout)
glO0,0
58 90,0
80,0
70,0
60,0
50,0
80kHz
40,0
30,0
20,0 L —
/
N
10kHz
0,0
0 10 20 30 40 50 eolout A 70
Conditions: Tj=125C
loutpk/lout=" 1,3 DClink= 300 V
Phaseshift= 1
Switching freq. fswfrom 10kHzto 80 kHz
parameter in  *2 steps

Copyright by Vincotech

15V Vgeoff=0Vv

60

50

40

30

20

10

70

lout (A)

60

50

40

30

20

10

Rgon=

Figure 2.

4 ohms Rgoff= 2 ohms

Typical static loss of shifted switch
as a function of output current
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Output inverter application

Phase shifted ZVS,

Vgeon= 15V Vgeoff=0V

Figure 5. Typical available electric
peak output power as a
function of heatsink temperature
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Figure 6. Typical efficiency
as a function of output power
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